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Q: Explain the similarities and differences between Newton’s law of universal
gravitation and Coulomb’s law.
Similarities: A force of gravity is proportional to the product of the intrinsic
properties (masses) of two particles, and inversely proportional to the square of the
separation distance. An electrical force exhibits the same proportionalities, with
charge as the intrinsic property.
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Differences: The electrical force can either attract or repel, while the gravitational
force as described by Newton’s law can only attract. The electrical force between
elementary particles is vastly stronger than the gravitational force.
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Leany e @&y L 5eS) Jall a sla2Q: Explain why electric field lines never cross..
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